RRRB Sceundcrabad Sr. Section Engincers Exam
http://ajourneywithtime.weebly.com/
(Held on 21-12-2014)

SECTION )
ENGLISH VERSION

1. Mwndonortypcwumyuoddodwasmmmmrmm
(A} electcons are goneratod and matenal s N-type
{8} clections arc generated and matenal is P type
(G} hotes are gonerated and mataal is called P-aype
(D) holes are genarated and matenal is called N-Type

2. To increase bandwidth, the distributed ampliler LlBZes
(A} common base configuration (B) Transmission Lne

(C) tuned Cucuit (D) Cascade ampisfior
A A pen junction diode’s dynamic canductanca is directly propprianal 1o
(A)  Ihe apphed voitage (8) the temperature
1) 1S current (D) the thermal voltage
4. King ciosers are relaled 10
(A} doors and windows (0) King post truse
(C] Oueen Post truss (D) Bneck Masonry
5. Seasonng of imner is required 1o
(A} Soften tha timbar (8) Harden the tmber
{C) Straghten the imner (D) Remove sap from the imber

6. Balching in concrete rafers 1o
{A} Controlling the total quanhly of sach batch
{B) Wesghing accuratoly. the quantity of each matenal for a job belore

mixing

(C) Contralling the quantity of exch material i Bach batch

(D) Adjusting tha water to be added in each bawch accoding 1o the
moisture content of the malerials being mixed i 1he batch

T. Gypsum i3 used o3 an admixture in
(A} accelerating the setting time
(B! retarding the selting time
() mcieasing the plasticity
{01 reducing the grout shrnkage

ns for

X, The maximum defection of o fixed beam carrying o central 1oad W is aquai
10 (other notations standard)
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2 In 2 thin.wail T-section, the shear centra C is located ot the point shown in
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10. A simply supported beam is loaded as below

20 KN

| [

. Zm , 2m

d
1
The corresponding Bending Momaent Diagram is
0 KNm

10 KNm i 7<\
L—:E’. WKNM I e

10 KNm —__Y__.}..
20 KNm

40 KNin ?\\
G e ‘F& 1o r_ /

20 m;;?Af v/

11, What is the radius of Mohr's circle in case of biaxid state of siress ?
(A} Half the sum of the two principal stresses
{B) Half the difference of the two principal stresses
{C) Ditergnce of the two principal stresses
(D) Sum of the two principal siresses
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Each verlical mamber has very large Moment of Ingria
PL PFL

A Es 1] "y
FL PL

C —_— _—

e i} o) 16

A structure has bwo degree of indatarminacy. The number of plastic hingea
that would be formed at complete collapse = .
(a) O 8 1 Cy 2 oy 2

Fof laminar fow betwean paraliel plates saparated by A distance 2h, haad
loas vanes

(A4) niractly as h (B inversely as n

{C} directly az h* (D} Inversely as h®

In Surveying, Offsels are

(&) Ialeral measuraments made with respect 1o main survey line

(B} perpendiculars evecled liom chain ines

{C)  taken o avord unnecessary walking between stalions

(D} measurerments which ae not made al right angles io the chain line

The true length of a Ene s koown lo be 200 m. When this is measared
with & 20 m tapa, the langih is 20008 m. The coffect length of the 20 m
tape 15

(A 19.892m (B 19.88m

(Cp 2004 m (O} 2008m

Shear failure of soils lakes place when

(i) the angle of obliguity is maximum

{B) madmum cohesion s reached in cohesive soils
{C} & reaches its maximum valee in cohesionless scils
{0} residual strength of the eod i exhausled
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What ie the process of utilizing one data link for transmission of @ grow of
vanables known as *

AT Encoding (R) Decoding

Hidp: A B NN me. weebly.com/ (U} Mullipiexing

In arder to increase the range of a voltmeter
(Al & low resistance is connecled in paratiel
1B) @ low resistance is connected in sedies
() A high resistance is connacled in paraliel
(L) atigh resistance is connected in series

The internal resistance of the msliammeter must he very inw for
(A} high accuracy

(B)  high sensitenty

(S} minimum effect on the current in the circuit

(D} maximum voltage drop acioss the meter

in oerRr 1o have fast. steady and accurato responses, the molers should
havo .

1A} Critical damping

(2 Under damping

(S} A very high damping coetficiant

(0} No damping

In case of overdamping. the instiument wili becomes

A} Osciliating (B} cead

() fast ang sensitive (D) slow and lcthargic

In referonce to Acid rain, what is correct statemment

(A The pH value is below 5.6

(B} Il vceurs due to prasence of sulphunc acd of nitne acid in the
amosphere

1€} Maximum acid is due to strong Carbonic Acid

(D) Acid rain affects ecosystem

In Giohal Warming, the majer contnbution is dug to
(A} Carbon emission {8} Agricuiture
{C) Deforeatation D) lIndustiy

Which of the foliowing mechanisms is NOT for removing particuiate matter
from gas streams.

{A)  Gravitotional settfing (D) Centrifugal impaciion

{C] Electrostatic precipitation (0} Buming 1ne paricuiae

Which ane of the foliowing 18 NOT Biotic components of ecology.
(&) Concumers (B) Producers
iC} Decomposers {Dy Climate
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hatch Col, X (Result) and Col, Y (Cause)

Col, X Col Y
(P} Water pollution 1.  Combuslion of forsi fuel
[CHetpavaioliutispwithtime.weebly. com;.! Decaying of organic mattar
(R} Moise pollution Peslicides
(3] Sall polition 4 High decibel
() P-Z,0-1, R4, 53 (B) P, 0L2, R4, 5.3
() P-3, 01, R2.84 D) P, QI RIEA
Part of the Computer wiene data aod istiuctions ae held is
(A)  Registar Linit (B)  Accumuiator
{8} Memory Unil o Py

I & Computer, Assembler is

(&) A program that places programs into memory and preganes ieen for
axETulon

(B} a program thal automate the transklion of acsembly languags inlo
machane language

(C) A program that accepls @ program wiillen moa begh keeel Bogoage
and produces an dq}écl program

(D) isa program that appeare to execule 3 source program il il wong

- maching language

Wuhich of the folcwing is NOT a register in Compater ?
{A)  Accumulator [B) Stack Paintar
(S} Progrem Counlar (D) Buffer

Which MNenwark protocol s used o send e-mail 7
a1 FI (B) SSH (C) POF3 (D) SMTP

The use of a cache in Computer system increases lha
(A}  avaitable memory space for the program

{B) available memaory space for tne dala

{C) availoble cpoeed of memaory access

(D) addressing range of CPU

A microprocessnt has 74 address lines and 32 data lines. [f it uses 10 bis
of opaoda, tha size of its Memory Bullor Hegister is

(A} 22 bits (B) Z4bits

IC) 32 bits (D) 14 bits

In a microprocessor when a CPLU s intarruplad, it

(A) - Stlops execution of inclructions

(B) Acknowledges interrupt and branches ofl subroutine

(C) Acknowledges interropl and continues

(D) Acknowiedges interrupl and waits for the nex instrectian from hs
Interrupting device
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The MODEM is used with a personal ¢ompuler o do which of the
Tollowing 7

A)  Convert from serial 1o paralel and vice verss

(B iimerirsgnalstratweam|) doand RS232 C standar and vice varsa
(G} Conver from digital lo analeg signals and vice verea

(DY Toconver the compuler 1o a long distanse communication link

The ierm digitization refers o

(&) eomversion of analogue inlo digital

(B] conversion of digial into analogue
{C) wse of analogue form of alectricity
() a fonn of changing physical guantites

Which is MOT a Wirgless Technoiogy.
{A) Blue Tooth {B) A convenbonal lelephone
Sy Wil (D} Wi-Max

In an Engineanng dravang, in rdouble siroke Gothic laumm winch 1
correal,

(&) Letters are drawn thin

{B) The lettering lemplate is used to draw the outling of lofter

(G} This s not preferred for ink drawings

(0} Thes is having non-uniform ling width

Match Col. X (Category) and Col. ¥ (Recommendad Scala) in refaronce 1o
an Engineering drawing.

Col X Col Y
P Enlarging Scala 1. 1:500
@ Full Scaw 7. 1
R  Reducing Scale 3 1:1
4 120
(A} P=4.0=1R=2P=2 (8) P=2.0-3.R=-4.R-1
C) P-1.0=-3R=-2 P-4 ) P-20-1R=-4.G=2

If RF is 1/60000 and distance, to be ehown on drawing & 7.5 km. what is
Lt temgih of fine on drawing 7

(A) 125cm (A} &cm (G) 45 cm Dy 10cm

A parabola can be consirucled on a drawing by the methoos EXCEPT
{A) Eccentricity Method {8) Rectangh Method

(G} Paralislogram bethuod (D} Asymptote Method

Which of the Statemants is NOT corect

(A} lscmetric scale is vaed lo draw isometnic projection
(B) lsoomelric scake is nob used to draw isometric view
(C) A squane is seen as reclangle in isemetnc

{0} A rectangle is seen as paralisiogram n isometno
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43, A pariicle moves along a circular path wath constanl speed What is the
nature of s acceleration
A ltis zero (B} s Unitorm

(G duestismsnangcsveebly.com/(D)  Its magndude changes

44. A body IS Al rest on 1he surface of the earth. Which of the following
Statements is correet ?
(Al Noforce is neting on the body
(B} Only weight of the body acts on i
(L) Not downward foree is equal 10 net upward force
(D) None of these is corredt

46.  The Specific Heal of the gas in an sothermal process is
tA) Zeto (8} Infinaa
i€} Nagatve {0} Remans constant

46.  ina Simple Harmonic OsGI0r, at the mean position
(A} Kinetic Encrgy is minimum, Potential Energy s maximum
(B Both Kinetic andd Putential Energies are mavimum
(C} Kinetic Enargy ie maximum, Patential Encrgy i5 minimum
{0} Both Kinelic and Potential Engigies are mumium

47.  Mirage is a phenamenon dua to
{A) Reflecton of hght (A} Refraction of igm
(€] Totatinternal reflecton of ight (D) Diffraction of hght

48.  Which of the fofowing cannol be spéed.time (v} graph of a body in
motion 7
v v A
Bt

(B} |
T

A}

o) s/

48, AUDQAaOro s nUMber, N, means
(M) number of protons in nucleus of an atom
(8) number of atoms in one gram ainm of an element
€1 sum of the number of protons and the neutrons in the nucleus of an
atom .
(D) number af protons of slectrons i one gram of Sodwm
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50.  Ispdopes of the same slement have
{A)  Bama numbear of neulrans
(B) Same atomee mass
it /e ammeeyuritmd. wealilymom/
{0} Dilferent atomic numbar

5. in 2 reactien between Zing and lodine, Zing lodide is formed. Whal is

being oxidised 7
(A Zinc ions (B} Indides one
() Finc Atom {0y loding

52.  Which of the following halogens is the best oxidising agenl 7
A} Fa B Cl {CY Ry (0 1

83 Namgen & used lo fil electic bulbs because il
WA e lightce than air
(31 makes te bull to goe mone Bght
(G} dnes nal Support combuston
(D} 15 nen-texic

54, Iroth floatation process for the concentmtion of Ciee s an llesabion ol
i practinal application of

(A} Agdsarpian {B)] Absorplion
(G Coagutation (D) Seduneniakiun
55 The process of increasing failily of £oil by eartworms o5 known as
A1 Organic farmung 1B} Vermicomposling
(€ Cutrophication (G} Warm Casming
56.  Thermost ahunaant sement presant in the slanis
(Al ron (B} Carbon
(C) Mitragan (07 Manganese

« 87, An enzyme brings abou
W) Decraase in reaction lime (8] Inciease in reaction e
(G} Incroaze in activabion energy (D) Reduction in aclivation snsgy

3B Widneys are nol only organs of exeration, their werk is supplemented by

4] Livar (B} Heart
{Cr Large mfestine (0¥ Skin
53, TheInages co in the bedy of an animal i
(A Deleocytes (B} Meuvron
{C) Chromalophores (Y Lymph comuscies

(=1 Waamin needed lor blsod ceagulation ig
{ny E B8 D Sy K i c
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Tha 1926 sastion of Indian Nabnonal Congress is af significance in the

hiztary of tha Freedam hovement bécause Ihe

1A} atainment of Soif-Covernment was declared as the objoctiva of the
Congress

(A} atainment of Pooma Swara) was adopted as e goal of the
Congrass

(Z) Meon Cooporation Movemen! was launched

(D} decision o panicipate in the Round Table Conference in London was
taken

The movemen! thal came 16 an abrupt end due 1o the Chaun Chauea
Incident was the

%) Wahahl Movement (B} Home Rule Mowermenl

{C) Mon-Cogperabon povement  (0) Ciil Disobedianca Movement
Tarch e folowing:

Pl R Das 1 Bardaoli Satyagrana

Q)  Valabh Bhai Patel 2. Swaragel

R) Abdul Ghatfar ihan 3 HKhitafahst

5) Matana Arad 4. Khudai Khidmatgar

(A} P-2,0-1.R-4,8-3 By P2Q 4R153

(C} P=d. O=1, R=3, 3-2 (D} P=2 Q-1 R=3, 5

Manoy can be spent out of the Consolidated Fund of Inda
(&) wilh the apgioval of e Pressdent

{B] wilh the approval of the Faiament

(C) with the approval of the CAG

(D) wath the approval of e above auhorities

Whiich of the followang is not a condition Tor Besoming 3 Catizen of India 7
{Ah Birh By Descent
[C)  Acquinng property (D) Natwalsation

The Oath of Office is conducted 1o the President of [ndi by
{A) The Speaked of Lok Sabba (B) The Chief Juste of india
(T} The Vice-Prosdant of india (D) The Prime-inistas of India

Dew is cawsed when

(&) humid 3 condenses on Cool surface
(B) the sky s overcast a1 night

{C) the air is colder than the earth's surface
(D) thee wined ks bo dry 10 cause rainfall

ek b Mt asacl Madk s la
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Which crop reguires water-logging for its cultivation 7

{A) Tea (8] Coflea

) Rige D) Mustard

Cne can open a Savings Account in India axcept in

{A) A Nabuonalised Bank (B) A Cooperative Rank
(€} a Privale Bank (D) Reserve Bank of India
The Term “insida Trading™ is relatad 1o

(&) Ehare Market {8} Horse racing

(%) Taxation (U} Hubi expandiure
The tesm MOM was in news [n relation to

(%) CAG rapor {B) Asian Games

(G} Mangalyaan (D)  Election Commissian

Merdeka Cup is associated with

(A) Internatonal Tabig |enne (B} Badminten
(G} Hockey (D) International Foatball
Recantly, referendum lor independence was held in
(A} Hongkong (B} fraland
(C) Scatland (D) Gemnany
Mateh Col. X (Sporiaperson) and Col. ¥ (Sports) :
Col. X Col ¥
P. JituRa 1. Dadminion
Q. Heena Sidhn 2. Wresting
R.  Jwala Gulta 3. Shooling
3. Yopeshwar Dutt
(A} P-3, Q-3 R-1, 52 (B} P-2. Q=3 R=1. 5=2
{C) P-2.0=-2 R-1, 53 (1) P=3 Q=1 R=1_5=2

Whach of the following celstwilies was recently appointed a5 “Brand
Ambassador of Telengana?

(A} Deapika Pallikal (B8) VWS Lawman
{C)  Saina Nehwal (1) Sania bMirza
EBOLA s a

(A} wifue ditease confirmed in West Africa

B name s Téisraeys]
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BKE Iyengar, who died recently, was o weorkd renownad
{a) Yoga Gury (B} Arbad
{C} Folk Singer (1) Fllm Cirseta

Which Country has recantly launched “Gandhi Ingpired Tourist Attraction
Project” ?

{A) England (8) Soulh Alrica

(C] UeA L0 Japan

Who among the following has designed the logo and siogan of the
“Swachch Bharal Abhiyan®

(A) mNeslam Ehaltacharos (B) Anant and Bhagyaahrea

(T} Uday Kumar (D} Wirman Kohli

Tha glegan of Asian Games Incheon 2014 was
{A) Green, Clean and Friendship

(B)  We Cheer, We Share, We Win

(€} Dovereity Shinas here

(L) The Games of Your Lie

“The "Heimand Province” of Alghanistan i famous bor culvaton of
(A) Tobacco . (B) Wheat
(C) Coltun () Cpism

Main objactive of newly announced *Pradhanmantn Jan-Dhan Yoina®
& 7

(&) 1o provide a bank account 1o every poor

(B} 10 provide a inleres! freeloan (o fanmers

{C) 1o provide financial assistance to tribal communicalion

{0} 1o prowide frae medical facility 1o minonty people

Censider the fallowing pairs |

1.  Garba: Gujaral

2 Mahiniamam @ Odieha

3 Yakshagana - Kamnataka

Which of the pairs given above isfare caitecibe maichsd %
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Devdas and Parinita are Princapal Btorary works by
{A) Rabindra Math Tagore (B} Sarat Chandra Shalterjee
(C} Salyajil Ray (D) Munshi Premchand

The capacily of two pols is 120 liires and 56 lires respecitvely. The
cagacily of a contaiver which can exaclly measuie the corbents of e bwo
pors is

Ay 7500 ce (B} 7850¢c

Gy ADO0 o (D} 8500 cc

A sum of T312 was divided among 50 boys and coma QIfs in such & wiy
that each bay gele 23,60 and gach girl 12.40. The number & girls b3
(A). 35 By 40 {C} &0 ) 65

Some students plannad a inp. The budget for faod was TS00. But S of
them tailed 10 go and thue the cost of focd for aach member increased by
5. How many students altended the frip ?

(a) 15 By 20 =) s {0F 30

In a clage, thore are bwo eactions A and B. If 10 students of eaction B shifi
avar fo sechion A, the strength of A becomes three limes the slrenglh of O
Bul. if 10 students shifl over fremm A to B, boll A ad B are equal in
siengih. How many slanis A thars in sectione & and 8 7

{4} 50 and 30 (B} 45and 15

(T &0 and an (O} &0 and 40

1250 artiches were fetrinued amang students of 3 class. Each studant god
twice 2s many aricles a3 1he numbar of eludente in thal group, The
number of students in the group was |

(A) 5 (B) a5

) S0 (] v

The average of marks of 26 students in Malhs was 50. 8 studenis left the
school and then the average Increased by 5 What & the average of marke
nblained by e sludents wno leit tha school 7
{A}y 375 (B} <2.5
) 45 i) 505

Six persons wenl fo o hotel for meals. Five of them apant 132 gach on
their meals while the 0 person spent 380 more than the averbe

expendiure of all the six Total money spent by 2l the persons is
JTAY S469 Iy PoaAN
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The sum of two numbers ie 2480. If 6.5% of one number is equal to 855
of the other, the greater number s :

(A} 07a (B 1380
Gy 1411 (D} 1250

X 18 40 yeare old and Y ie 60 yeare old. How many yoars ago was the ratio
of theiragea 3: 57

(A] Syears (B} 10 yoars

1Cy 20 vears (D) 37 yeans

In measuring the sides of a rectanga, arrnrs of 5% and 3% In excess are
made. The error percent (n the calculated area is

A} B.35% (B) T.15%
{C) 8.16% () 6.25%

If a frama i3 sold at %60, there is a loas of 15%: For a profit of 2%. the
frame is tu Le sokd al

n 0 8y 2 iC) s o) %8s

On selling 100 pens. a shopkeeper gains pice of 20 pens His gain
percent ik

(A} 25% iB) 20% i€y 15% .y 12%

2
lswmdiwdodmngh.s.cmmal/\goh;deBgetsandBQeta

1
;o!whal(:g'u Then thew shares are respectively

(A} TTH 0325 280 (B} T80, 1120, 2480
(C) €90, 2210, 7360 (D) T100. €200, 380

XY and 7 start a nusiness, X invesis 3 times 3¢ mueh as ¥ invests and Y
2

|mms-3-mnrmallmvests.'fmmenﬁoofupnakdx.Y,Zis

(A} 3:9:2 (B} 6:10°15

C) $:3%:2 {0} 8:2.3

A man, a woman and 3 boy can together complete a piece ol work in
3 days. f aman alone can do it in B days and a boy alone In 18 days, how
fong will a woman take to complete the work?

1A) Sdavs (B 21 daye
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A tap can fil a cistern in & hours and another lap can ematy it in 15 hours,
If both the taps are open, the lime taken 16 fill the tank will be

(A) B tis, {B) 10 hrs.
() 16 hrs: (D) 24 his.
Twu lrains approach each olher at 30 knifhr and 27 kanfhr from o places
347 km apart After how marny hours will they mest 2
(M) 5 his. (B) Bhee
(C) 7 lus, it (D) 12 hrs.
£ =]
The speed of 8 150 m long train is B0 kmph. How much ims will if ke 1o
pass a G00 m lang platform
(A) S0s8c (B) S¢sec

(C) B0sec (D) B4 gac

In how many yeats, @ eum will be thnce of it at simple interest ) 10% per
annum 7

(@) 15 years iB) 20 years
{C) 30 years (O} 40 years

A gum ol monay amounts 16 Y9680 In 2 yaars and T10848 m 3 years. The
rete of interest per annum on compounded basis is

(A) A% B 10%
(C) 18% D) 20%

ThupmwmmaumlarlﬂdnmasquamrHMmmal I b aiea
of the equare field is 12100 m?, the area of the circular finkd will be

(A 15500 m® {B) 15400 m*
€y 15200 m? (o 15300 m’

If e nesgmt of 8 cone is doubled, then e Boease in is wolume is
{A) 1005 (B) 200%
(C) 300% 0y 400%
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Am angle 15 one fifth of its supplement, The measure of the angle 3
(A 1% (8} - (LS - oy s
http://ajourneywithtime.weebly.com/

The angle of clevation of a ladder leaning against a wall is 507 and tho
foot of the ladder is 7.5 m away from the wall. The kength of the ladder is

Ay 16m (B} 14.85m
{C} 1564 m D) 158m

Select the option to replace 7 such that patlern in given number senes is
conlinued

6,13,25, 51.101. 2
(A) 201 8y 202 (C) 203 {0y 205

Sefect the option 1o eplace 7 i given alphabet sedes 10 conlinue the
pattarm

WFB, TGD, OHG, 7
Ay NI i(B) NIK (Ch NJK (D= O

In given letler series, some of [he lallers are miesing which are given in
thal arder in pplions. Select the comeact option
noabc_dcand_Doonc_nc_bo

() AAARR (R) croono

(T} bbbbb (0 oaded '

Selact the opbion that showe similar relabien as between given words,
anack | Defend

(Al Gradual @ Abrupt (B) Sedate : Calm

(C)  Assign . Allot D} House : Home

Selact the option such thal relation bebween words on edher side i
simiar,

Vigitant - Alart :  Viabla | 7
{A) Artiun if) Hopeless
(€} Feasibhe {D] Usetul

Select the odd one out
(&) Iran {B) Mickal
(G Gobait (D) Amsminium

TSGO01314 29 2003



116,

117,

118

120,

http://ajourneywithtime.weebly.com/

O ke tallar than C and E. A e nol as tall ae E. C is taller than A, D i3 not as
tall az B. Who among them is next to the tallest one 7

(A A B) D

C) BorD o) C

X walks 10 km towards Merth, From there, he walks 8 km lowards South.
Then, he walks 3 km towards Easl. How far and in which direction is ha
with reference to his starting point 7

(A} 5%kmWesl (B) 5 km Morh-Cast

(G} Tkm Easi (O T km West

Directions: (Question No. 118 & Question Mo, 118} Chooes the
Carract option lor given classes.

" @O @

@ OOO @

Men, Wamen, Human Baings

. Doctors. Lawyers, Professionals

Sedect the oplion to replace 7 in Problem Figure to continue the pattem.
Problem Figure

Q@A |A|O] 2

Answer Figures



2.

1223

128

125

2.

7.

{A) 1 akone (B) tand3
{C) 2 alone 0) 3 sl

Which cne of the following is corecl 7

The snerdic e alesaubenbepted from 0°C
(A)  fustincieasies and 1hen decieases

(B) first decreases and then incinasnes

{C) increases steadily

(D) decreases steaddy

Two blocks which are at different s1ales are Drougnt INKG CONTACT with Rarh
other and aliowed 10 teach a final state of thermal equilibium. The final
temperature atlained is specified by the

(A} Zerath Law of Thennodynamics

(B} First Law of Thermodynamics

(S 2™ Low of Theemodynamice

(DY 3" Law of Thermodynamics .

A composite wall consisis of two layers of dflferent matenals having
conductites K, ond K; For equal thicknese of the two layars, the
cquvalent thermnl conductivity of the stab vall be

(A] Hy+ Ky (B) KiKs

o ik o Ktk
4 had B
© Ky +K, o KK

The presence of nitrogen in the products of combuston ensures that
(A} Complere comnostion of fuel takes place

{8} Incompiate combughon of tuel takes placae

{G) dry products of combugtion arc analysed

Dy air is used for e combustion

Wisch one o! thd toliowing 12 the most sigaiticant property 1o be
conaiderad in the aelection of material for the manufacture of locating pins
and drill iy Gushes used in jigs and fixtures ?

&) Yvear Raeslsiance {R] Flastcity

(C} Shear Strength (L) Tensile Strength

What tenn s used o designate the dwection of the predominant surface
panern producad hy machining nperation 7

(A) Roughnece {B} Lay

1Cy Waviness {D) Cutoff
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1Dy undorm rale in lemperature rise of a DOdy

What is the main shaft of an engine that cantrols the movement of piston 7
(A) ade (B) orive snah
(C) retpntaahafheywithtime weebly.cof)  cam shaft

For small and intricate castings, the sand graina should be
(A} fine (B) madium
{C) coarse (D) rounded

In Submerged Arc Welding, the arc is produced botween
(A) a bare metal electrode and work piece

{B} atungsten electrode and work piece

(C) a carbon elecirode and work plece

(D) any type of clectrode can be used

For Welding process, which is NOT correct.

(A} Welding siza depands on contact area of 1he face of Etectrooes

{B) Metal fusion takes place by raising the temperature te fusion point

{C) In Pressure welding. the ends of metals places are joined In Flastic
state

(D} Gas flame is used as heat source in gas welding

In overhead wekling position, which is conect uplion.

(A} work piaces lie flat, welding is done from upper side of joint

(BY  welding is performed from U undeside of joint

{C) Immeironnmmlcmphopomhonmeompnwd to flat position
(D) most suilabde fue Subnmuud AlC process

Soft iron is used in the manufacture of electromagnets because of its
(A} high saturation magnetisation only

(B} tow retentivity only

{C) low coercive field only

(D) high saturatiun magnetisation. low retentivity and low coercive fisld

Which of the following is plezo-electric matarial 2
{A) Quartz {B} Silica Sand
{C) Corundum (D) Polystyrens
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I B cosciactams Gal'l‘l' currEnd i ihe SRme dereciion
(A} Conductors attract cach other

(B} Conductors are in resonance

{C} Conductors repel each oiher

(Blpdelipge betuecn o eegudns ncreases

According to Joule's Law, heat energy produced Dy a Cumfent | while
flowing through a conductor of Resistance R for a Length L and Time T, is
proportional 1o

(A} T only (B PRT

ic 1AL D) IRLE
Rociprocal of magnetio permeability s

(A)  Conductance (B) SBusceplance
(T} Reluctivily () Pamiltivity

A matenal is £3i0 10 have DEcoma SUPerconducins when

(Al s resistance becomes negative

(B} s resistance becomes very small .
(C) ite reictance decreases

(D) ils resislance becomes zero

‘When a given franaformer is operating al its raled voltage with reduced
frequency. ils

(&) lron logses are reduced {B) Flux densily rémains unaffected
{C) Core fux density is increased (D) Core lux density is reduced

The armature core of a d.o. maching s usually made of laminated shaals
in order to

(a) reduce hysteresis loss

{B) reduce armalure copper loases

(C)  redice sddy cument

(D} increases its surface arca for better dissipation of heat

To reduce air pollution due to smoke, are used i thermal
powes plants,

() reheaters {B) superheaters

{C) induced drall fans (D) Electrostatic precipilatars
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Mateh Col X (Instrumant) wath Gol Y (Use)
Col. X

P Tranaformar 1 Measures Current

Q. Reclifier 2. Ingulateon Hesstancs

R Ammaolor 3. Steps aown VoRrage

5 Megger moler 4, Comserts AC input to Linkpnkar
sutpul

{4) P-3,Q4,R1.52 (B) P-3, 01, R-8,5.2

(C) P4 04 R-2. 51 {0} P-3,Q-1,R-2, 54

FET s a davice which has

{A) migh inpist impedance and is current controfhed
(B) low inpul impedance and s voltage comnolled
{C) high input impedance and ia vollage contralled
(D) low input impedance and ts curment controlbed

Which gate comespands to the action of parallel switches 7
(A} AMD gale (E) OR gae
(C] NAND gate (D) NOR gale

Which of the following conlribules to harmonics distortion in amplifiars?
(8] Mon-linearity in active device (B defeclive device
{C) presence of noise (D) positiva teadback

Soloot the Statement which is NOT corfact )

(A} The magnetic amplifier s device lor amplitying elecirical signals
(B} - A Wransistor. s compased of samiconductor material

(€} pn divde is based upon p-n junclion

(D}  Potentiomater contiols audio signals

Tha main advantage of a bridge rectier over full wave rectifier with centra
tapped transformer is

{A) less ripple

(B) Nn tmnsformer s nesded

(C) peak inverse voltage of aach dioda is hall

(0} PV of each diode is double
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Soloct the Statoment which i NUT cortact

(A} The magoatic amphfier s devica for amplfying olectrical signais
(B) A Uansstor Is composed of somiconductor malexal

(C) pen dhod 18 based upon p-n junction

(0) Potentiometer cantrols audio Signals

The main advantage of  bridige rectifer over full wave rectfier vith cantre
tapped vansfomer is

(A loss ripplo

(B) N transformier (s needed

() pook inverse voltage of each diode 1§ ha¥

() PV of each dicde Is dovble

\Wheatsione bridge & used o measure

() lowr valuns of cusrent and high values of current
(8) high ualues of eurront

() Low vaho of vollages

(0) resistance values



